Efficiency vs dr

2 0.05

<
9.045
30.04
c
(0]
'9.035
=
®0.03
0.025
0.02
0.015
0.01
0.005

1.0

Ratio

—s— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

tep2_ttbar-phasel-newgeom

.| —— DQM_pixelCPETemplateCutChiSquare5_s

1

o
©
a

1072 107

=
S
w

[ Efficiency vs dr (track,jet) |

1
TP min AR

.§0.01
d0.009
£
Q.OOS
9.007
>
®.006
Q
359.005
)
0.004
0.003
0.002
0.001

Ratio

107 1072 1
AR(TP, jet)

Efficiency vs pu

-1

5005 ——m—————————————
& N SUUR U SUNU AU
O e A S AR S A

L R S A
] o : : : . . H
K S R R S AR
= E : : : . . .
B N R S SELE I
0.025f -+ beeieer e ferchonnendenndinnd
T [ 8 0% S S S S

0.018f-++-veefivee o By
0.0 RN NLIE ) -

0008+~ {i-{1 Hﬁ % Wl
O OB 00 3751

1.1

Ratio

----- I -+

1

N
O T T
w
o

Pileup

40 50 60 70 80 90 100




	Contents
	Page 1


